41

gooon

Jo23040 260

4 00

4.1 O0O0O0O0O0OO0OO0OOO

a+b—>c+d+---

00000 (00000000)0k0000 (target)de,d,...:-00000

goog

a+b—d+V

gogobobbobobbbbddgbbdddoooooobobboboougd
O0pbObO0OO0OO0OOODOObObOOoOOOOoOoOoDOoDO

gogbobboobbodoooooboboobbouooooobooobboogd
ggooobod

he
2mc? By, + E,%m

~ {ﬁ/v?mEkm (Ekin < ch) (41)

X:i—i:
p

he/Eyin ~ hic/E (B > mc?)
(Ekm =F - ch)

Az0 0000000000000 OOOO0OOO0
he 200fm - MeV
> - Z7r 4.2
peZ A N (4.2)

gogooobod



gooon

gbosdoobooobdedbdn

a+b—d +b
b* = c+d

OdD000000inclusived00a,¢,d000000Oexclusive0 0000000
000000000oooo0o0o0o0oUuoooDooooOOoon e),d)on

4.2 0O0OO

goooooboobooooroor’ocoogogoon
gboobgobobbobobobobobboboobooboobon

@a:%:nava (4.3)
Na,na,vaDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDAD
goodooooo
goddooooooobooogoooooooooooooooooooon

000000000000 00000000000
N=>a,-N, o, (4.4)

NODOoOooooooood
b euubbuogdbbbooobuogdbbbooonoobuooobbod
uogbod

o, = N/®,N, (4.5)
B 00000000000

- 00000D00000000D000000 xO00000
gbooboooobbod

00000000000000 xO0000O000000o0000
0D00000000000000000000000000000000000
000000000000 000000000000000000 0w = 010(E)
0000000000000000000000000
N0000000000000000000000000000000000
000000000000000000

Otot = Oel + Oinel (46)
Oinel = 01+ 02+ -+

000000000000000000000barn = 10"%m, millibarn = 1073'm
goboooogd



4.3 000000
goo

L=, N, (4.9)
= N, - nyd = n,v, N, (4.10)

000000000000 000000000N,, N,0OO0O0000000
0D,j00v0000000UD0000000000000000000000 4
fslugs

N, Nyjv/U
A

ggbbbuoooobbobooodobobbboodabon

c (4.11)

N:Jtot'c

gogobobbbboouooooobobobbbodooooobbobboogd
ggobobbbbbouoooobobbbbbbuoooobobbobobbodagoo
goooboboogdan
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDJM-fth
gogoboboogooobobodgo
0000000000000 1woph 00000 IbOOOODOOO

Inb - 100 x 103nb™! = 100000 O

goboooogd

googd

0000000000 Q000000000 “(E,6)0
00000000000000000000000000 E'~E +AEQD
00000000000 2000000 2240 0000000000000000
ooooo

i o ()
Otot (B :/ dE’/ dQQ——= 4.14
wr(E) 0 oooo dQdE" ( )

goon



4.4 000

gobbboggboobood

gooooo
My = (Up[Hime|thi) = /d3x¢;§7-[mt1/}i (4.15)
000000 VOOOO p~p+dp000000000
M@Z%%%Q (4.16)
goboboboooobobobooooboo
dE = vdp (4.17)

goooooobd F~FE4+de000000O0O0ODO0ODOODODOOOO

_dn(E) V -4mpidp
 dE  wv-(2wh)?

o(E) (4.18)
FermiOO 2000000000000 0C0O0OO0OO0O0OO0OOOO
2T .
W= ZE Ml - ol Ey) (4.19)

0000000V =N,/n, 000

N(E) ov,
pr— pr— 4.2
%% NN, % (4.20)
00000000000
2 )
a:fw|wuﬁ-gEﬁ-v (4.21)

0000000000 Mp/O000000000000000000COO
gobbbuogobobboooobooboboooobobooooboo o0

Wt (4.22)

T

gogooboogd

4.5 UO0O0O0OOOOO

MpAaOOOODOOOOOO00000000000000000000 vertexO
ggbbobuoooobobooooooboo



Fermill OO O

Hamiltonian O
H=Hy,+V

goooviobuoobooboboboboooboobooo

) = exp (=) 10(0)s

O;(t) = exp <_£ht> Og exp (@t)
i

gogobobooogooo

goon

in (0} = Vil (o),
O000o0o0ooooooood
()1 = Texp ( / dtw’>) (o))

gobobobuogg1l1gbboobod

B0} = [(to)) s + / dEVi () (fo)) 1

to

[(t)); 00000 HamiltonianH, 00000 |p,) 00000
=Y calt)lon)

gobboboogobobod

—Cn to +ZCm to /dtVnm( )

0000 V,m(t) = {(e.|Vit)|e)0000000000000000000000
D00H, 000000000004 =00000

(t))s = / dve, (1) g,)



o0)=0rv—1) 00000

e (t) = e, (0) + / du% / t dt'Vi, (1), (0)
5(v — 1) /dﬂ /dtVW 5(v — 1)

= 5 — o) + m/ AV (1)

v, 0000

b, — E,
Vi) = ex0 ( Z22E00) (V)

ggon

<SOV|V|SOVO> EV() - Eu
() = ————— —t | -1
“)="p =5, |"°\ " n

0000000 |e )20

a0t = Mool o (B2 )|

"

(s24)? 5 ¢r(w)(t - 00) 00000000 00000000000000

_ El/
e OF = 1o Vi)l 2570 (2—h)
2

= [(ew|VIow)[* 50 (Euy — Ev)
0ooobd ool deO
Bon e = WV 1) P20 (Bry — )
oood
dv = j—ng = o(E)dE

0000y —i,v— fO000000FermiOO0O0O
2w
W:fM/lfiPQ(Ef)

goon



